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M- B SRAEA) - HRAR - B2 of v e HIDE2
7l 268,300
=S 402,450
201 er23| 50,000 40,530 9.470
Jl 20,000
== 30,000
01 At2teltl 15,000 5,530 9,470
OZEE NFGHEUHLH 24 15,000
) 6,000
< 9,000
02 s3=gHl 35,000 356,000 0
OBL3 H7AIE 2g & RAE= 35,000
7l 14,000
= 21,000
202 04l 4,480 5,600 A1,120
Jl 1,792
S 2,688
01 =LHOHI 4,480 5,600 A1,120
OXNSHHEAHE FRFA 4,480
) 1,792
== 2,688
207 AR 616,270 584,000 32,270
7l 246,508
= 369,762
03 Al 28I 616,270 584,000 32,270
OXAISF & JIXHH — 580,000
Il 232,000
== 348,000
O4EdH RS uM E el 36,270
) 14,508
= 21,762
NAHE R MY AEE S N (21) 187,500 162,500 25,000
Jl 75,000
= 112,500
405 AHaHE S 187,500 162,500 25,000
Il 75,000
== 112,500
01 IR ESFSHI 187,500 162,500 25,000
OMSHH A (BSC) 18,500
Jl 7,400
[ 11,100
OAlSf 2t 1N (1359L) 27,000
Il 10,800
= 16,200

- 1161 -




SN EABAADE
Y Lol ALSA(EH/2AH2AR)
ool 288 s € g7 (S H2)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OAl&E2 251D (-30) 9,500
Jl 3,800
== 5,700
OPCR & 11,500
Il 4,600
= 6,900
ondEissEl 116,000
Il 46,400
=S 69,600
OdH=0IZ 5,000
Jl 2,000
< 3,000
MEHHUS A4 HERD 2 XNJA(21) 25,750 25,750 0
= 12,875
= 12,875
202 04| 1,120 1,120 0
= 560
= 560
01 2LHoIH 1,120 1,120 0
OdEHAUS gF=d 1,120
= 560
== 560
207 ARl 24,630 24,630 0
= 12,315
= 12,315
03 AlZ &=t 24,630 24,630 0
OAl%t & JINM #& S 17,250
= 8,625
= 8,625
OdSHIUHl HIE=SE 7Y 7,380
= 3,690
< 3,690
SHSEIIZEE 2L 2HE(2D) 30,000 49,600 219,600
Jl 15,000
= 15,000
207 AR 30,000 49,600 19,600
7l 15,000
= 15,000
03 Al 328 30,000 49,600 219,600
OAIZ L IIH P S 30.000
Jl 15,000
s 15,000
Nz AstZAIHA 2= (62 A (=12) 114,000 120,000 26,000
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= 57,000
=S 57,000
202 04l 11,000 6,000 5,000
= 5,500
== 5,500
01 =LHA LI 11,000 6,000 5,000
OANZHF S g2 11,000
= 5,500
= 5,500
207 ARl 103,000 114,000 211,000
= 51,500
= 51,500
03 Al 328 103,000 114,000 211,000
OAlSF & JIXHH + 103,000
= 51,500
s 51,500
LA R AH 135,700 99,700 36,000
l 2,200
& 133,500
28 I & HEA 57,400 57,400 0
201 fer= 3| 1,000 1,000
01 AtR2tc|HI 1,000 1,000
OAds & el BIHHI & 1,000
202 04| 2,400 2,400
01 =LHO LI 2,400 2,400
OZE M 2= 2,400
207 ARl 54,000 54,000
03 Alg & -2HI 54,000 54,000
OFblI=xel, Al & JINM 78-S 54,000
ST ASAG HIAM 2EE A 73,900 37,900 36,000
201 fer=2 3| 8,000 10,000 /2,000
01 AtR2t2|HI 8,000 10,000 22,000
oclEa & 2= X 3,000
RN 24 +8 5,000
202 04l 3,600 3,600
01 SLHoIH 3,600 3,600
OZANY R 3,600
207 ARl 24,300 24,300
03 Al 2HI 24,300 24,300
O&dlz=cl, Alef & I 2 S 24,300
405 AtatE = 38,000 38,000
01 IR =SFISHI 38,000 38,000
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Out2H| 30,000
OX 21| 8,000
CEEEZ SN 2ZA(22) 4,400 4,400 0
Il 2,200
= 2,200
207 ARl 4,400 4,400 0
7l 2,200
= 2,200
03 Al 28I 4,400 4,400 0
OFbl=cl, Al & I & S 4,400
Jl 2,200
== 2,200
G Y As AL 257,650 241,670 15,980
= 23,000
Il 67,224
= 167,426
=d 288 A Y AS XA 47,100 47,100 0
201 Ler23| 2,000 2,000
01 At2teltl 2,000 2,000
OuMKMZ, ZAMZE, ARES 7Y 2,000
202 048l 2,800 2,800
01 2L A b 2,800 2,800
Ogs XAt & HH=+H S 2,800
207 AR 42,300 42,300
03 Al 28I 42,300 42,300
OdHl==cl, dTAIS & I 7Y S 42,300
S0l - AIZOHH 28Y 2AY 2 (20) 27,300 27,300 0
Jl 13,650
== 13,650
207 ARl 27,300 27,300 0
Jl 13,650
< 13,650
03 Al 2HI 27,300 27,300 0
O&Hl==cl, AHAIS L I 78 S 27,300
Jl 13,650
= 13,650
ololx & dY AEA JeH(F1) 46,000 36,000 10,000
= 23,000
=S 23,000
202 04l 400 400 0
= 200
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Colo] AAST(LA/2A9R)
G 2 A5 A4 (SH9 M)
SA - B - SRI(BH) - MRAR - B A HIDEZ
01 2LHoIH 400 400 0
OgR=A 0l 400
= 200
S 200
207 ARl 45,600 35,600 10,000
= 22,800
= 22,800
03 Al & =24| 45,600 36,600 10,000
OZHl==al, dTAIe & 45,600
= 22,800
= 22,800
C2HOIHA THE =0t &4 30,000 30,000 0
Jl 9,000
& 21,000
207 ARl 30,000 30,000 0
) 9,000
S 21,000
03 Al 2HI 30,000 30,000 0
O&Hl==cl, AAIS € 30,000
Il 9,000
= 21,000
ZE OIEHE20H 2HIZAH=12) 89,148 57,410 31,738
Il 44,574
== 44,574
101 @124H| 11,390 0 11,390
Jl 5,695
& 5,69%
04 JIZtNZ22 NS 2+ 11,390 0 11,390
OJI1ZtMZ22 X+ el2iH| 11,390
) 5,695
= 5,695
207 AR 77,758 57,410 20,348
7 38,879
= 38,879
03 Alg 71| 77,758 57,410 20,348
Odtl==cl, A=A & S 77,798
Jl 38,879
= 38,879
SHM W&o ZA 18,102 43,860 N25,758
202 048l 2,352 3,360 21,008
01 =LHOHI 2,352 3,360 A1,008
OANlz MF S g8 2,352
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ol OIS otN e A EER=E)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
= 24,741
=S 37,112
202 04l 2,500 3,500 21,000
= 1,000
== 1,500
01 =LHA LI 2,500 3,500 1,000
OAMESSsT FHMY g2Fd 2,500
= 1,000
< 1,500
207 ARl 59,353 58,353 1,000
= 23,741
= 35,612
03 Al 328 59,353 58,353 1,000
OAl%F & JIXHH + 54,000
= 21,600
s 32,400
OaEgdH RS uM ¥ el 5,353
= 2,14
=S 3,212
FoiSd otdzel(=1) 8,534 9,000 N466
[ 8,534
207 ARl 8,534 9,000 N4B6
= 8,534
03 Al 32t 8,534 9,000 NA466
OAlSF & JIXHH + 8,534
[ 8,534
CZHI0l2d A ZAIMA AMY MEHI(=1) 16,440 16,440 0
= 6,576
= 9,864
207 ARl 16,440 16,440 0
= 6,576
== 9,864
03 Alg & -2HI 16,440 16,440 0
OAlF & JIXtHH & 15,000
= 6,000
< 9,000
O4EdH FSuHM Z +cl 1,440
= 576
= 864
NERSEHH REXNBHSEAS A 16,100 16,100 0
207 ARl 16,100 16,100
03 Al 32t 16,100 16,100
OAI%t & DX & 16,100
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24 ERsED
MM oo AYEA(B2/P20IR)
oelr Soiet AS 2 +E o B2 (S &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
OAE S HY HAL ERFd 2,000
207 ARl 48,150 48,150
03 Al 2HI 48,150 48,150
OAlSf X JINMN e, Sl S 48,150
ST Hes S ordy A 59,200 58,200 1,000
202 04| 5,000 6,000 1,000
01 2LHAHI 5,000 6,000 21,000
OYe= & +HATSA 5,000
207 ARl 54,200 52,200 2,000
03 Al 328 54,200 52,200 2,000
OAlSF & I8, Hlscl S 43,200
Od2I| 2488 JtA 11,000
ST =itE SAls rEy HA 45,012 44,385 627
101 21A4H| 22,212 21,585 627
04 JIZtN2Z2 XS+ 22,212 21,585 627
OJIZEHIZ22 X 21244| 19,432
OAHEE & R0 2,780
202 04l 2,800 2,800
01 2LHoIH 2,800 2,800
O&H =1 S aA &2 =8 2,800
207 ARl 20,000 20,000
03 Al -2HI 20,000 20,000
OAZEAN S Mz 728 12,000
ORE=HE, A% & I S 7Y 8,000
Sollet 2898 HEME 2 58,600 58,600 0
Z8d e & o4 58,600 58,600 0
201 2egh=3| 1,000 1,000 0
01 At2t2lt] 1,000 1,000 0
OMRES 7Y S 1,000
202 04l 3,600 3,600 0
01 =LHAHI 3,600 3,600 0
OZEE At & ARYR =4 3,600
207 ARl 54,000 54,000
03 Al 3 2HI 54,000 54,000
OAleF & JIX e, HHlx=cl S 54,000
Nesd EE(8d/832548 1,405,789 1,162,630 253,159
= 112,000
[ 1,293,789
ol & sS4 =& 2 266,299 237,100 29,199
= 97,000
= 169,299
ot ¥ S = e 72,29 39,100 33,199
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I NS =23 et
&el: ol & sS4 = BN (CEREE))
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
101 @124H| 30,299 30,299
M ORIMZZE2NSE S 30,299 30,299
OJIZtHZ22 X+ 21 244| 26,719
o4=e & FUbI 3,580
201 et 3| 1,000 1,000
01 AtR2tc|HI 1,000 1,000
OANRES 7Y S 1,000
202 04| 12,000 12,000
01 SLHoIH 12,000 12,000
Ootd, S = 22| HRFA 12,000
207 ARl 29,000 26,100 2,900
03 Alg 3 -2HI 29,000 26,100 2,900
OAlF & JIXtHH 20,000
OZHIRSUH & 2l 9,000
EFZ0F NS AL SHE HEd Dl =AE (B4 194,000 198,000 24,000
(=2)
= 97,000
= 97,000
201 er23| 30,000 32,000 22,000
= 15,000
== 15,000
01 At2teltl 30,000 32,000 A2,000
O=N=ez A& 17,000
= 8,500
< 8,500
Ou=Hl, S0, ARES ?8 S 13,000
= 6,500
= 6,500
202 04l 16,500 11,000 4,500
= 7,750
= 7,750
01 =LHAHI 10,000 11,000 21,000
O 20F IHIE=E HRFN 10,000
= 5,000
< 5,000
04 =Hl=to1bl 5,500 0 5,500
odTael =2 Jlsu= 5,500
= 2,750
= 2,750
207 ARl 148,500 165,000 26,500
= 74,250
< 74,250
03 Al -2HI 148,500 185,000 6,500
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SN BABAADY

I NS =23 et
oel: Ol &L SA4A A BN (St &)
SA - ZE . BRA(8) - HRAR - BES of v e HIDE2
O=FHZHl ==2l, A2t & I+ 148,500
= 74,250
== 74,250
YHes oMy 2l 77,270 157,270 80,000
H=E AAE BAHE Jls N 77,270 157,270 80,000
201 fer= 3| 500 500 0
01 AtR2te|HI 500 500 0
OANRES 78 S 500
202 04| 7,200 7,200
01 =LHO LI 7,200 7,200
=S HME DA HRFD 7,200
207 ARl 69,570 69,570
03 Alg 32t 69,570 69,570
OAlI2t & DX & 9,000
O4E &l RS uM E +cl 22,770
O&EE JtA7g 37,800
HEHEE e 87,170 55,570 31,600
SH0|HE SA 26,820 26,820 0
202 04l 1,800 1,800 0
01 SLHoIH 1,800 1,800 0
O0Id= ANESA 22 1,800
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